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e Please check that this question paper contains 15 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

¢ Please check that this question paper contains 24 questions.
¢ Please write down the Serial Number of the question before attempting it.

¢ 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i)  All questions are compulsory.

(ii) There are total 24 Questions in all.

(iii) Marks for each question are indicated against it.

(iv) Questions I to 5 are Very Short Answer type carrying 1 mark each.

(v)  Questions 6 to 10 are Short Answer Type-I questions carrying 2 marks each.
(vi) Questions 11 to 17 are Long Answer Type-I questions carrying 3 marks each.
(vii) Questions 18 to 21 are Long Answer Type-II questions carrying 4 marks each.
(viii) Questions 22 to 24 are Essay Answer Type questions carrying 6 marks each.
(ix) Answers should be brief and to the point.

(x)  Please write down the serial number of the Question before attempting it.

1. F9R U&F FU% RaR ¥ TEted § | U6 57 W @ve fgem sried 9 HY g
AfReRT TR ot T FH & (670 Uk S+ I Tia o1 SRT Fowar | 2 = Treion o |y
I Taepre 9 Tohan Sw, & fawg & ==t @ | 39 7 dens HEr S awie & e §
T AT e foeh 7 MYk dehih o AR H off STFeRI &1 | 2| T8 off STFeRY &
o ST P 3T HAT Fl SN I TT THR F P [T 204% Ui I AT 3
T IUASH HWT T FHI I ASTAT [TUUM H FE=IT 5 BT | FAR A 370 I TSl
3G EHE | A 61 i foha |

39 TIOR8 ! TEdM HIT Y FAR 6 30 IR TSell SARA & &9 § o=
o e e | 1

98/1 2

Downl oaded From : http://cbseportal . conf Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

CBSE

www chsaportal com

Downl oaded From : http://cbseportal . conl

Kumar belongs to a farmer’s family. One day a team of officials from the local block
development office visited his village for discussing additional opportunities related to
agriculture. The team discussed with the villagers how to develop fishery. The team
explained about the technique of construction of ponds and the modern technology of
growing fishes. The team also informed that the ‘State agriculture department’ will
provide loan at an interest rate of 2Y2 % per annum to the farmers who will engage
themselves in the occupation and will also help the farmers in the marketing of the

fishes. Kumar, decided to engage himself in the fishery occupation.

Identify the ‘idea field’ that helped Kumar to engage himself in fishery

occupation.

2. AT GIAEY 1 T 3T ¥ 9 1

What is meant by ‘business opportunity’ ?

3. CUERRC 99l ‘G {5 URaR e’ § Siehan el o UR 0 = ST | 1

Distinguish between “Partnership’ and ‘Joint Hindu Family Business’ on the basis of

maximum numbers of members.

4. ‘g% U UGl ufwar € fed ue suanht faem @ aifviises goa & orpan | ufEtad fear
ST & | 3HH R foeeiuuTeeh TaeT 51 SeH 37e Hal & e ur oI fohd S §, oo
O w1 forepre foman s €, fora o1 Hied foman STan € e e sl At e S
T

TTShaT ol Y8 SieTT | 1

‘It is a process which involves the translation of a useful idea into an application which
has commercial value. It takes persistent effort to work out analytically the details of
enterprise or service, to develop marketing strategies, to organize finances and

strategize operations.’

Identify the process.
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What is meant by ‘Financial Synergy’ ?

TS A 8161 & § 10T SRS Areatyes Tdie 9 o g, @ W U het 9 Sl 6§ | 9
W A YE HET AR § W] Y& B T AT SFadH H THA & oawg 7 o
T A UL A | T K W T % TG Ik IR UTeh H TR W T4 3 A A |
3T Tg ot @ 6 3T SRS U 310! SaTedt ol I S & | 38 | 6 36 ave &
T T WA G ST T Bl B | SHA Uk U Setereiiieh 2 ferepfare e bt el it
g5 Al % URAR & TET % AiGee ST B a2 3% IAH! afefa & an § ga
T | T8 I IAH Sai § @1 S | 39 T AT H U G Ak Hf R h G S gep
H ITH TAT O T F IX H off I M | ISR Ulekd 7 arad 39 STTEROM A
TEHIT AT SHh Y T Sooid BT S ST I GHET % FHYH % o0 fomnt @

TEAT § e adl |

Gunjan has just passed her senior secondary examination from a CBSE affiliated
school. She wanted to start her own business but was unable to decide about the nature
of the business. One day during the morning walk her grandfather fell down in the
park and was injured. She observed that her grandfather often forgets to take his
medicines. She thought that the same problem may be faced by other old people. She
thought to develop an instrument for old people that could be fitted with an electronic
device connected to the mobile phones of the members of their family which could
indicate the location of the old people when they go outside their homes. This device
was to be kept in their pockets. She also thought to fit a timer in the instrument that
could remind the old persons about the time of taking their medicines. Identify and
state the meaning of the concept described in the above para that helped Gunjan in

structuring her idea for solving the problem.
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7. U I FTEE TS % HEA! TR F A Hd AT A6V 2 foheal IR fagett ot Jer
=T | 2

When should an entrepreneur choose company form of business organization ? List

any four points.

8. ol g1 STETON & WeddT § sifgeh WUl STRIHRT 1 37 ST | 2

With the help of any two examples give the meaning of intellectual property rights.

9. ol fafads = gacl TUURE I ICUTRA 3T fhal | S8 STIEYM fora I agd R e
ST off T8 TR & ICURT AT W A | FEAL A S IR H Yoo, od- R
fafy — “Ar ST % SMER WA | $T qUF UTET BT hl S o {6 3% A%
AU I AEH H 3TeD! SFHAT U el & Tl & AT Ik ZURE T AR 91 0.5% & 7
T | ek SR TAWE AT o, I oAU fafy B ager @1 i fean @ife sme &
3% STET A& T & Tk |

@) e fafiee gRT 31O 7T =75 Hod-fEReT fafy st wam Sy |

@) SR (F) H Ted I TS Gog-aRor i 7% fatyr o =l 3 o 1 Sevig i | 2

Shilpi Ltd. started the manufacturing of herbal toothpaste. They researched that large
number of established enterprises were also manufacturing the similar type of
products. The company fixed the price of their toothpaste on ‘cost plus method’ of
pricing. After some time the company realized that they were not getting good
response regarding their toothpaste from the customers and the market share of their
toothpaste was less than 0.5% . Since their product was new, they decided to change

the pricing method so that initially they could get more customers.
(a) Identify the new pricing method that was adopted by Shilpi Ltd.

(b) State any two advantages of the new pricing method identified in (a) above.
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10. ‘T4, U, S Gt oo W 5% % 9% 9 qaredr a9l & | 1.3.2017 H TIUA, HI &
FRT S TE Tengal ol foreror T R W €

TTERT it WA T TTeh farer w6t i

3
50 340
45 370
35 650
30 800
25 975
Tl ek St 7T Teedl i S JRT Y AT HIT | 2

‘H.L. Chemist’ sells medicines at a discount of 5% on list price. On 1.3.2017

medicines as per details given below were sold by ‘H.L. Chemist’.

No. of Customers Per customer billed amount

4
50 340
45 370
35 650
30 800
25 975

Calculate the average amount of medicines sold per customer.

11. 37 GEIh-37Teh ol it gal e e T 38 310 Tl el & O & &
GTEHT T € | 3

List the socio-economic benefits that are expected to be acquired by an enterprise from

its proposed investment.
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12. =1 GoF1 9 “9Har W e’ St UM i
LSl % 6,00,000
10% o1 % 2,00,000

T 98 365 o 3 1,40,000 | T off Sooig SIS 6 0fd $93 U oIRg 9o W I8 T
T B 2 3

From the following information, calculate ‘Return on Equity’ :
Capital % 6,00,000
10% Loan X 2,00,000

Net profit before interest I 1,40,000. Also, state what is this return on rupees per lakh

of equity.

13.  TUTST 23 99 &l U A= € | ST Ush ST Uineior G 9 511 1 g [F € | a8
T U9 et STl W fafi=T Sguedia st § srEka Tages U Jegdiaat &l €, § h
g TR I TSI i G STRE AT Tl & | T 370 Ueh 17 579 shuren festret-nm Hrenifimest
H i 2, feoram 27 €, o I IS ot G STR™T A o SR H =i i o folw T | 39 i
3 30 % G e T a7 v fafed oo qar Y SaE U S Swhe IR e | fHfed
Tt TR ST TS SR dedl b1 SIaTReh ®9 | U & | THY 7 hael Wl SUshH
I TEITIAT Ue Feerdl ol Juer H TeradT e aifuq foar 6 vmfa e fhamaa & ant
H A STl ASEAT & 1T WTee= e T ST Jodishd i | |l Grerr e |

TMaTeT 3 319 9 & Q1 9 SR WX == @, 39h Hewd o (bl St [Gagel # oot
HIT | 3
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Gopal is a young man of 23 years. He has completed a tailoring course from a
industrial training institute. He wants to start a big size tailoring shop in a posh colony
where young men and women working in various multinational companies line. He
went to one of his friends who had completed a B.Tech. course in textile designing to
discuss about the opening of the tailoring shop. His friend advised him to prepare a
written document describing formally all the relevant external and internal elements
involving in starting a new venture. It will not only help in understanding the
feasibility and viability of the proposed venture but also facilitate in assessing and

making provisions for the bottlenecks in the progress and implementation of the idea.

State any six points of importance of the concept discussed by Gopal with his friend.

14, foram qen R} we Atae Ssier § SFe 4 99 @ 93 e © | e & i o g
HIOAT | & TN IE STHAT H USRS & | TIRT N W BT Uk HEFEY 2T G & qA1 98 9 0
I WHE-THX & T HE Sl Teh Dot § Tl & | TR 379 9 Ted B eI & Th
Tiafted former & waeT fSe T =edt & W] 9 el § S § oemd € a9 U 0 wha
ST 98 B 1 ToRT TSl §eh i Ted™ ol L U1 & | I 39 [owd § R | == w |
Toren F THE W UEEH & a9l AR B WY A {6 98 SelE o ol § Woe, Yord
st F T TEEd FaANe H AT THET H ANk W7 & TAw & U uh
SUgEFT WA W UEIH H ST Wk | W MK B FE o gea @ fE =
www.nurseryadmission.com AT ¥ UF dadEe Fl fOehg o qdT SRS T 30 ol Hf
TA T | AT AR TY SIEER FRT S@ ST WAl & S ST Fgeal 9w AR H §
310 TS o Whell W R IR § | FrEr i S U ey sfweX e # & forw ot
el ST dedTEe S FEfd T § e Al W | TR FRT & H TS A9 H agd 9
IR = AT 3 100 3t ®IF T TTAA Hh 3@ |

(F) SRR TS H S0 SHAT STTIRON H Ta HIvTT |
@) ST (F) H T TTE TR % LA 1 Iooid HirTy |

(M) U Tl ST godi i Tedm HifsTT STehT To1ar T TRY = T i i ol b | 3
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Shiva and Gauri is a young couple having a four year old son Rohan. Shiva is
employed in a multinational company and is posted in Germany. Gauri has her own
computer training institute and is staying with her son and in-laws in a locality of
Bangaluru. Gauri wants to admit her son in a reputed school of Bangaluru but is
unable to visit schools and identify the one, where she could admit Rohan. She
discussed the matter with Shiva. Shiva identified the problem and advised Gauri to
collect on-line data related to admission, infrastructure facilities and related
information about schools of Bangaluru, so that a suitable school for Rohan could be
identified. He also advised Gauri to develop a website www.nurseryadmission.com
and upload the information of various schools on the website. This website could be
visited by the parents who wish to admit their children in the nursery class in schools
of their choice. Shiva also told Gauri to employ a computer operator for this purpose
who could update the website regularly. Large number of parents visited the website

started by Gauri on payment of an online fee of ¥ 100.

(a) Identify the entrepreneurship concept discussed in the above para.

(b) State the objectives of the concept identified in (a) above.

(c) Identify any two values that Shiva and Gauri tried to emulate.

www chsaportal com

TG T HT 37 & 2 AT Traredi o [T e o gt Tarse | 3
What is meant by business ? List the different categories in which business activities
can be classified.
“WIFERY o1 41 1Y € 2 WEIGRI H o Gsiighe = €I % TROMH! 1 Sooid Hite | 3
What is meant by ‘Partnership’ ? State the consequences of non-registration of a
partnership firm.
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Mo Wiew” T a1 YorT & W arel T Rl &5 of | 3w Wied fauT o
TUTE o ATH aTel Ueh SHY WISRR! H ot | T a=m oAt 1 : 2 3 SFAd | o ared o
qT fo9= TS HOTe 2 ¢ 3 % U H AN e & | S B AR % U Uieg SN | e
off T 3ehT e Uiaeqel o1 | ST Wiew % WERR UvE 7 3@ o 36 9gd § A6
TR e G & T I HF H @ 96T % T & | off Gietl S af & 9ga 31 A
AT X Fhell € | “Tieed Wiew i feafa oFf 5 & o | v 57 v 9 i % W U
FEHA | IAT FH o HEERT B HE g5 | I B o WERR A o fF A0 wH H
3TN foReY TE T | 37: 6 1 B o foerd o Forg foran | 30 s2va 9 foora =t
T ot H T 2 % [T IR Teh IR SR fer 6t ot ferar |

STt 1.1.2016 1 371 ®AT 61 T & T T TH T2 BH ST Toed @ied &
e ART WISERI, T, T, oo oom WoTer o |1y g37 | Sl a1 o 3 1:2:2: 3
o 131.12.2016 & THT g€ a9 H ®F F &< o A= AT § =R 78 I @iett qen foska

T 30% Y HHTET |

(%) A HE FRT UG [Ie1d o TR i Ted HitTd o2l ST 372 FarRy |

@) ol 3 37T TR o foretat o A e ot ot S |

‘Golden Sweets’ was a partnership firm, owned by Swati and Sushma. ‘Asam Sweets’
was another partnership firm owned by Vipan and Pranav. Swati and Sushma were
sharing profits in 1 : 2 ratio and Vipan and Pranav were sharing profits in 2 : 3 ratio.
Both the firms were situated in a famous market of Guwahati and were doing
competitive business. Pranav the partner of ‘Asam Sweets’ observed that many of their
customers were from far off areas and if branches of ‘Asam Sweets’ are opened in
other parts of the city, the firm may earn huge profits. Similar was the situation of

‘Golden Sweets’. One day in a function at a common friends house, the partners of
10
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both the firms met. The partners of both the firms knew that the internal expansion of
their respective firms will be costly. Hence, they decided about the merger of the two
firms. For this purpose they decided to meet again to finalise the conditions of merger.
Finally on 1.1.2016 their respective firms were merged and a new firm ‘Asam Golden
Sweets’ was formed with all the four partners Swati, Sushma, Vipan and Pranav. Their
new profit sharing ratio was 1 : 2 : 2 : 3. During the year ended 31.12.2016 the new
firm opened four new branches in different parts of the city and earned a profit of 30%

on sales.
(a) Identify the type of merger adopted by the two firms and also give its meaning.

(b) Also give the names and meaning of two other types of mergers.

Teh WE-3T & o Srediass fHaise & fafy= uredt 1 989 | 9o sifed | 4

Describe briefly the formats for the business plan that a start-up may have.

o= TR & SIS =TT Sl THEET | 4

Explain different types of brand name.

T T LT drer A § U oY 3R [ | S faii= Wb St Al el SUSUT o
TqAT UMEehi ! AT & UM H TEral & o A wfenersh e fhd | 397 oy § i
HUST HH Y[oeh 1@ dlih TRIe IRART & Forgae e "agaiaar |t 9 & giarenett & 3w
FH Teh | g I ITHT ST AT & A7 TN 3T o TIRAT H J=arer 3TRe &Y f3an

0% fIu 3o aifafer uferershl 6 FEfe s | SR S TN off o aies it
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TEH B FAYT AT ST GF | U g H 9 70T A FAM A | Iq T o & U o
T WX ot foran qen aftse At & o U “HARSH deT 8§02 Fo1a’ g S hid IF 3R
fohar | 3T o TTeehl U TSRl B THFHAT R YR U T g AR § 9 o &
ToTT it Icafed foham | & 36eh folT §eAd 81 71T 97 3% W el 9 U “HARS For
% Got o U "] Yol WiAfe QU o &= bl GEE % foTd G0 31 U T fgam |

() T S SUWAT % =TI g AT H el i Ty Ue THeey |

@) UH forl &1 goat i veEe W T e T S sher e o | 4

Raman started a gym named as ‘Strong Body’. He installed large number of machines
and equipments of different types and appointed qualified trainers to help the
customers in the use of machines. Initially he kept a low fee per hour so that boys and
girls belonging to the poor families may also avail the facilities of the gym. Very soon
his gym became popular and he started operating in three shifts. For this he appointed
additional trainers. He also installed extra machines so that more customers could be
enrolled. In one year he started earning good profit. He took a nearby building on rent
and started a ‘Recreation and Health Club’ for the senior citizens of the locality on
very nominal charges. He also encouraged young boys and girls to participate in the
cleanliness drive started by Prime Minister. They agreed and started giving one hour
daily for cleanliness of the nearby areas before opening of the ‘strong body’ gym and

‘recreation club’.

(a) Identify and explain the type of business expansion that took place under the

entrepreneurship of Raman.

(b) Identify any two values that Raman tried to propagate.
98/1 12

Downl oaded From : http://cbseportal . conf Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

CBSE

www chsaportal com

Downl oaded From : http://cbseportal . conl

21. T qUT A U TRIGR BH 9ol @ 9 | F @R Al % Seared U foqoe | el g ¥ |
AT SR T HIFT 81T & 317 Jaeil ot SERE el o7 | ®H 3TeT g e Tel
off T TR o o ST F SATYF T KT T & | 3H TR WTeehi 7 T § 5[ 37
AN % QI 37T A7 | o ST A ASHG S5 Qe ¥ o9 9 9 | 3% 5N
SeEd WTEI-del U, UE.UE.T3TE. (fssai) FRT (HEia AMeht o S aR & |

(@) TR TUT qHE Tk GRT AR 3l ST dTell ATTcHe ISt o Ush-Ush WehY hl THEET |

(@) AR a1 HFE gRT 310 T el & ot bl e o iy | 4

Manohar and Manav were running a partnership firm. The firm is engaged in the
production and marketing of edible oils. Manohar was looking after the production and
Manav used to look after the remaining operations of the business. The firm was doing
good business and earning profits more than the rate of profit of the industry. They
used to be fair in their dealings with the customers and other stakeholders of the
business. They used to do their quantitative planning meticulously. The edible oil

produced by the firm is as per the fssai Standards.

(a) Explain any one type of plan prepared each by Manohar and Manav with

quantitative expressions.

(b) Identify any two values observed by Manohar and Manav.

22. S F, UH MG Toh H STl SRR WERI FHOR Ed &, AEensi & oY uh
TIATIETT ol ot S TR Y | W, 379 FaTE Tl TEA S &, TIh Gy | 6

Jaishree started a readymade garments shop for ladies in a residential area where
mostly government servants live. Suggest her the ways to make her business a

successful one.
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23. A9 3 U Ushel WEHE FIUE I [T | 3THT A ¢ o ufdq a9 37eh fosha T 12 o
B | 39 0 oSt ST foTT | 3T 3avash Uoid Ui & &l TeTe & | 99 39
ToTE % fo | ST =@ o7 q9T 3 UaT o g W ST =t o [ U e Yol g
TMET | IT + IH TT Tor@ Hl 21 GHN 71 I8 Ff G i f60-fong ot & o g g
T |

SURIHRT HoH & T3 H
() SIS GRT S T SO Joig T AT e 37 T |

@) 37 Al ot 1 ot Soeie ISTT ST U 98 Yol &1 9eT | 6

Ghosh started a sole proprietorship form of business. He expects that his annual
turnover will be ¥ 12 lakhs. His friend Bannerjee advised him to obtain the necessary
document from the Income Tax Department. Ghosh wanted to know about the
document and also the parties who must have it. Bannerjee explained him the meaning
of the document and also explained the different parties who must have it.

In the light of the above statement :
(a) Give the name and meaning of the document explained by Bannerjee to Ghosh.

(b) Also, state the parties that must have this document.

24, I VTS TS YUY Y § foriiT Fial 1 A ¥ Suhat i IR S et  F € 1
(%) 9 O B TEAH HIT T 3T fafiF= WBRT b1 Tl ST |

@) ST (F) § TTH T dF & = LI B ST el SAfaat sl T 1 A
FAET | QT &l AR Sl THH Tewd o el O fagai i off THeey | 6
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‘It is an organized mechanism meant for effective and smooth transfer of financial

resources from the investors to the entrepreneurs.’
(a) Identify the mechanism and list its different types.

(b) Name the association of persons established under the mechanism identified in

(a) above. Also explain any four points of its importance to investors.
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